

بلیف، مباحثه

$$y = x^r - \omega$$

$$x^r = y + \omega \rightarrow xz = \sqrt{y + \omega} \rightarrow y \geq -\omega \quad [-\omega, +\infty)$$

ب) $xz = x^r + 1 \rightarrow \textcircled{R}$

$$y = x^r - r^r x + r \rightarrow x^r - r^r x + r^r + r$$

$$y = (x - r)^r + r \rightarrow \sqrt[r]{y - r} = x - r$$

$$x = \sqrt[r]{y - r} + r \rightarrow y \geq r \quad [r, +\infty)$$

$$y = x^r - \omega x + 1 - s$$

$$y = x^r - r^r x - r^r x + 1 = yz (x - 1)^r - r^r x$$

$$+ \sqrt{y + r^r x} = x - 1 \rightarrow \sqrt{y + r^r x} + 1 = x$$

$$x + y + r^r x = 0 \rightarrow y = -x - r^r x$$

$$y = \frac{x^r + r^r}{x^r - r} \rightarrow yx^r - r^r y = x^r + r^r$$

$$yx^r - x^r = r^r y + r^r$$

$$x^r(y - 1) = \frac{r^r y + r^r}{y - 1} = x^r \cdot \frac{y + r}{y - 1}$$

$$xz = \sqrt{\frac{ry + r^r}{y - 1}}$$

$$x = \frac{-\frac{1}{r}}{\frac{1}{r} - \frac{1}{y}} + \frac{1}{\frac{1}{r} - \frac{1}{y}} = \frac{(-\omega - \frac{1}{r}) \sqrt{y - 1}}{y - 1}$$

$$ry + 1 = 0 \rightarrow y = -\frac{1}{r}$$

$$ry = -\frac{1}{r} \rightarrow y = -\frac{1}{r}$$

$$y^2 \frac{r|x|+1}{|x|-\varepsilon}, \quad -\frac{1}{\varepsilon} - \phi + (-\infty, \frac{1}{\varepsilon}) \cup (x, \infty)$$

$$|x|y + -\varepsilon y = r|x| + 1$$

$$|x|y + r|x| = +\varepsilon y + 1$$

$$|x|(y+r) = \frac{\varepsilon y + 1}{y+r} = |x|$$

$$\varepsilon y + 1 > 0 \Rightarrow y > -\frac{1}{\varepsilon}$$

$$y^2 \frac{1}{x^r - \varepsilon x} = \frac{1}{y} - 2x^r - \{x\}$$

$$\frac{1}{y^2} x^r - \varepsilon x - \frac{1}{y} = x(x - \varepsilon)$$

$$\frac{1}{y^2} x^r - \varepsilon x = x(x - \varepsilon)$$

$$y^2 = \frac{1}{x} - \varepsilon (x + \infty) \cup (-\infty, \frac{1}{x})$$

$$y^2 x^r - 9x + r \rightarrow \infty$$

$$y^2 x^r - 9x + r$$

$x < 0$ - min

$$\frac{-b}{2a} \rightarrow \frac{-\frac{1}{x}}{\frac{1}{x}-1} = \frac{1}{1-x}$$

$$\frac{-\Delta}{\varepsilon a} = \frac{-14 - \sqrt{14^2 - 4 \cdot 1 \cdot 9}}{2} = +9$$

$$[-\infty, 9]$$

$x > 0$ max

$$\frac{-\Delta}{\varepsilon a} = \frac{-14 + \sqrt{14^2 - 4 \cdot 1 \cdot 9}}{2} = 2$$

$[2, \infty)$

دوال و برهان

دوال

الف، $y^2 x^2 + y^2 x^2 + y^2 x^2 + 1$ ؟

$R_f = R$

$y^2 \sqrt{\infty} + y^2 x^2 + y^2 x^2 + 1 \rightarrow R_f$

$R_f z (0, +\infty)$

4

الف،

$a > 0$ max

$y^2 \sqrt{x^2 - 9x^2 + y^2}$

$\frac{-A}{\Delta x} \rightarrow \frac{-y^2 y + 1}{y} = -V$

$(0, +\infty)$

$y^2 \sqrt{-x^2 + y^2 x^2 + 1}$

$\frac{-19 - \xi_0}{-14} z + 1 \xi \rightarrow \sqrt{1 \xi^2}$

$\frac{-14}{(-\infty, +\infty)} \rightarrow \log + \sqrt{1 \xi}$

$y^2 \frac{ax+1}{cx-1} = R - \{y\}$

Δ

$y^2 \sqrt{\frac{y^2 x^2 + 1}{1 + 2x + 1}} \rightarrow R - [\infty, +\infty) - \{y\}$

$$y = \frac{a}{x} \quad x = 1 \quad y = 1$$

$$y = \frac{1}{x} \quad x = 1 \quad y = 1$$

$$y = \frac{1}{x} \quad x = 1 \quad y = 1$$

$$y = \frac{1}{x} \quad x = 1 \quad y = 1$$

$$1 - \frac{1}{x} = 0 \quad x = 1$$

$$y = \cos x \quad x = 1 \quad y = \cos 1$$

$$x = \frac{1}{y}$$

$$y = \sqrt{x+1} \quad x = 1 \quad y = \sqrt{2}$$

$$\frac{1}{x} = \frac{1}{y} \quad x = 1 \quad y = 1$$